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P g SR
ESR S TR = 1 =i Q1 IV NI )
By 3% A F044£08 H01 H eI Dt e/ 97 kv (Biir)
i 4 JE Hh = Wae | %K F e T fE g2y ]
X R AbE 10. 00 | #H%F 300 3, 000 1,835
IENE b 10. 00 | #H5%f 100 1, 000 1, 620
H X E % 15. 00 | #H%f 780 11, 700 756 480 270
X D FiE 10. 00 | #H%f 250 2,500| 1,048 892 432
ESF AWII--N E % 4. 00 | FHxf 36 144| 4,320 4,073| 3,888
H % i 3. 00| FHxf 128 384 1,512 985 648
H A ] 1L 1. 00| FHxf 265 265 432 334 270
ENIEE so0lfxt| 6] 30 1,890 1,530 1,350
AR s 5. 00| FH*} 452 2, 260 1,944 1,632 864
BN 0.50| #Exf| 3,154 1,577 162 nrl 86
g OBO| 0.40| #Exf| 3,680 1,472 151 133 86
= %% 4. 00 | FHxF 1, 062 4,248 1,728 1,172 756
[N s 5. 00 [ FH %} 266 1,330 1,296 937 702
F o | 500 tA%k| 1,387 6,935 1,404 1,149 756
v—< = 0. 15| FHx} 3, 000 452 59 55 49
EZRIS Fealll 10. 00 | #H%f 400 4,000| 2,160 1,476 864
T b= b eifEE 3. 00| FH*} 800 2,400 2,592 1, 854 1, 080
fRotE dbdmE | 10 | FH%f 260 26 194 179 162
g % | 2.o00|Mx| 9o 18| 2,160| 1,896 864
H i (i 5. 00| FHxf 249 1,245| 2,160| 1,862 648
RenE AbiEiE 10. 00| AHxf 113 1,130 1,674 1,379| 1,080
E F AbiEiE 10. 00 | #H%f 180 1,800 2,970 2,862 1,944
£ A L 10. 00| AHxf 927 9,270 2,160 1,900 1,188
L&A £ ¥ 10. 00| FA % 1, 420 14, 200 1,231 1,023 648
P=—LF R £ B 4. 00| FH%f 554 2,216 1,134 700 486
T AT F ) 0. 10| #Ht 1, 250 125 119 83 65
Tayal— E % 4. 00 | FHxF 30 120 2,376
AEMEE (i 0. 10| #H%f | 5,900 590 140 101 54
ZDEH £ ¥ 0. 20 [ #H %} 600 120 43 38 32
LU £ ¥ 0. 20 [ #Hx} 150 30 59
AA ha—y £ ¥ 5. 00| FH%} 295 1,475 1, 685 1, 465 1, 080
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P g SR
ESR S TR = 1 =i Q1 IV NI )
Rz A F044£08 H01 H EFER S 55 kv (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]

=K w5 10. 00| AHxf 116 1,160| 8,316| 7,016| 5,616

PE i % 5. 00| FH%} 581 2,905 2,484 2,115

S K B 0. 35| ¥H%F 160 56 508 470 389

A — % ] 1L 2. 00| FH%F 42 84| 4,104| 3,168] 2,592

= (AL 0. 50 | FHxf 544 272 389 381 378

Avava 74 V¥ | 13.00] fHx%E 16 208| 2,484| 2,410| 2,376




